) €M)

ooa

a(d o) (rad)

Ratio

[
<
N

a0 d ) (cm)

1072

Ratio
=
N

.l
o
|-

+.
el

e

S —

L :

B 0 ) B,
3 -4
H

i i i e 0.8 i

YlT
R

-1 0 1 2 3

—=— DQM_original_step2_ttbar-phaseIl-newgeom

—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DQM_pixel CPETemplateCutChiSquareNew?2_step2_ttbar-phasel-newgeom

ek

1e

—
'_
o
~
'_
o
: s °
H : ~
: - o
;- L é-- -'ll' T x|
. E 4 -+
Bk |3
. 3 4
: : Tl 1 1071
! * .
<

A=

Ratio

| = I R I I R
i e -n:r i ‘.__"__“_-_:l_—w S

R R Tt
L v v

<+ | T

b

LTI
¥

B

il d

il

adorviaahao
T

10 1 2 3
TP ® (PCA to beamline)

2

3

TP ® (PCA to beamline)



	Contents
	Page 1


